MIAMI-DADE MIAMI-DADE COUNTY
COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/building

Overhead Door Corporation
2501 South State Hwy. 121, Suite 200
Lewisville, Texas 75067

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control
Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined by
Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the applicable
building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models 5745, 5765, 7565, 515 and 525 Commercial Steel Sectional Garage Door up
to 9ft.-2in. Wide with Optional Impact Resistant Glazing

APPROVAL DOCUMENT: Drawing No. D-411896, titled “Windload Models 5745/5765/7565/515/525,
+46/-52 PSF Dade County, 9°2” Max. Width”, sheets 1 through 4 of 4, dated 10/28/21, prepared by
manufacturer, signed and sealed by Junfeng Qian, P.E., bearing the Miami-Dade County Product Control
Revision stamp with the NOA number and expiration date by the Miami-Dade County Product Control
Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer’s name or logo, manufacturing
address, model number, the positive and negative design pressure rating, indicate impact rated if applicable,
installation instruction drawing reference number, approval number (NOA), the applicable test standards, and
the statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side
track, bottom angle, or inner surface of a panel.

LIMITATION: This door has not been tested for air infiltration.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in
the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done in
its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA No. 22-0315.01 and consists of this page 1 and evidence pages E-1, E-2 and E-3, as
well as approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

M NOA No. 23-1120.26

. Expiration Date: August 04, 2027
| APPROVED | ’

Approval Date: February 08, 2024

2/2/24 Page 1


http://www.miamidade.gov/building

Overhead Door Corporation

[y

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS NOA’s
DRAWINGS

1.

2.

Manufacturer's die drawings and sections.

(Submitted under NOA No. 22-0315.01)

Drawing No. D-411896, titled “Windload Models 5745 / 5765 / 7565 / 515 / 525,
+46/-52 PSF Dade County, 9°2” Max Width”, sheets 1 through 4 of 4, dated 10/28/21,
prepared by manufacturer, signed and sealed by Junfeng Qian, P.E.

(Submitted under NOA No. 22-0315.01)

TESTS

1.

Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94

2) Large Missile Impact Test per FBC, TAS 201-94

3) Cyclic Wind Pressure Loading per FBC, TAS 203-94

4) Forced Entry Test, per FBC, TAS 202-94

5) Tensile Test per ASTM ES8
along with marked-up drawings and installation diagram of a series
5745/5765/7565/515/525, 9°-2” sectional garage door, prepared by Intertek, Test
Report No. L.7618.02-801-18-R0, dated 02/23/22, signed and sealed by Tyler
Westerling, P.E.
(Submitted under NOA No. 22-0315.01)
Test report on Standard Test Method for Evaluation of Painted of Coated Specimens
Subjected to Corrosive Environments per ASTM D1654-08(2016)-e1 and Standard
Practice for Operating Salt Spray (Fog) Apparatus per ASTM B117-16 and on garage
door exterior steel, prepared by Intertek, Report No. J4650.02-106-18 R0, dated
05/24/19, signed by Gary T. Hartman, P.E.
(Submitted under NOA No. 22-0315.01)

CALCULATIONS

1.

Anchor verification calculations prepared by manufacturer, dated 03/04/22, signed and
sealed by Junfeng Qian, P.E.
(Submitted under NOA No. 22-0315.01)

QUALITY ASSURANCE

1.

Miami-Dade Department of Regulatory and Economic Resources (RER)

Manuel Perez, P.E.
Product Control Ex

NOA No. 23-1{120.2
Expiration Date: August 04, 7
Approval Date: February 08, 2024




Overhead Door Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS NOA'’s (CONTINUED)
E. MATERIAL CERTIFICATIONS

1.

Test report on Ignition Temperatures of Plastic per ASTM D1929-16 on BASF Corp.
Elastopor P19670R polyurethane foam insulation, prepared by QAI Laboratories, Inc.,
Test Report No. RJ6431F-1, dated 09/28/2018, signed by Bryan Ortega.

Test report on Surface Burning Characteristics of Building Materials per ASTM E&4-
18b on BASF Corp. Elastopor P19670R polyurethane foam insulation, prepared by
QAI Laboratories, Inc., Test Report No. RJ6648F-4, dated 12/12/2018, signed by
Bryan Ortega.

Notice of Acceptance No. 18-0918.06 issued to Plaskolite, LL.C for its TUFFAK
Polycarbonate Sheets, approved on 11/15/18 and expiring on 08/27/22.

F. STATEMENTS

1.

Statement letter of conformance, complying with FBC 7" Edition (2020), dated
March 07, 2022, issued by manufacturer, signed and sealed by Dwayne J. Kornish,
P.E.

(Submitted under NOA No. 22-0315.01)

Statement letter of no financial interest, dated March 07, 2022, issued by
manufacturer, signed and sealed by Dwayne J. Kornish, P.E.

(Submitted under NOA No. 22-0315.01)

G. OTHERS

1.

None.

Manuel Perez, P.E.
Product Control Exapai

Expiration Date: August 04;
Approval Date: February 08, 2024



Overhead Door Corporation

(S

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

NEW EVIDENCE SUBMITTED
DRAWINGS
1. None.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 22-0317.02 issued to Plaskolite, LL.C for their “TUFFAK
Polycarbonate Sheets” dated 04/21/22 expiring on 08/27/27.

STATEMENTS

1. Statement letter of conformance, complying with FBC 8t Edition (2023) and of no
financial interest, dated January 25, 2024, issued by manufacturer, signed and sealed
by Dwayne J. Kornish, P.E.

OTHERS

1. Notice of Acceptance No. 22-0315.01, issued to Overhead Door Corporation, for their
Models 5745 /5765 / 7565 / 515 / 525 Commercial Steel Sectional Garage Door up to
9ft.-2in. Wide with Optional Impact Resistant Glazing, approved on 08/04/22 and
expiring on 08/04/27.

Manuel Perez, P.E.
Product Control Exa

Expiration Date: August 04,
Approval Date: February 08, 2024



§

NOTES: (UNLESS OTHERWISE 'T(\HH)J

1 RAT[D DESIGN LOAD

S JAMB LOAD CA
TRt L,
7. A B IEEE

S NDARD LIFT HIGH I.IFT VERHCAL LIFT, A

1 FT OF HEGHT (DESiGN PRESSURE
210.82/-238.37) 1B

P‘ i /2 DOXR wmm 1 FT ' HEIGHT)(DESIGN PRESSURE)

B D&BR SKIN MAT[RIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO G40 MIN, WITH BAKED-ON PRINER, AND BAKED-ON POLYESTER PAINT TOP COAT.

FOR ANCHORING (NTO WOOD,USE ONE 5 16" LAG, SCREW 3@2 éM&EB%AEEﬁI INTO SOUTHERN PINE (6=0.50) OR BETTER.

1t 8 «Fé‘»ﬁ%ﬁ&h il ;Pr%‘%p%ﬁsrs ol -

PER, TRACK BRACKET WTH 1

+46
( Y 10 CR[ATE VARIOUS DOOR HEIGHTS, 24" MAYIMUM SECTION HEICHT.

i é%%‘?ﬁ R@c&%ﬂnﬁN%E"\m?“ dhe PR B A R R 0

REVEOS.

R

REV |

DESCRIPTION DATE APV

R

New oRamc

10/28/21 |

i

DOOR JAMB

I HEATROOV TRACK IS AVALJBIE FOK LOW HEAOROON LT CORDIIONS 100 SRACKEL SUALBE 13 GA it 1/4 TOP SRACKET WTH A N OF SECTON E-D
314 -1 NG PIE SRS L OF THE SRACKET SHOUN O DR, UBAR 0N 10p SHCNIOH SHALL B MSTALLED DN TOP O 4§ T0P BRAGKETS AL | 12
i R 4-14¢7/8" SELF DRILLING CRIPTITE SCREWS AT ALL HINGE LOGATIONS AND z) BTV EACH IOPRLEDATE TG . SSROr LhEATED By T0p AND/ OR AT BOTION
4 XEY LOCK. OR SIOE mcx REQURED
Ms et RESISTANT BLAZNG OPTION= IMPACT PESTANT CLAZNG SISTE Y BE ISTALED I AL SECTONS, CLAZHG S BE 8/4 POYCARBONATE 441 X AIGB
Cﬁﬂﬁ%ﬁn}%&ﬂywﬁé‘ﬁﬁéﬁﬂ%ﬁc s]rﬁmmif( éﬁusﬂw% %a"ﬁ A et " o S o R PO bt bl s RoPHE AR ncoosommee vy
( 2% G SACGER PLATE B 10 BE [OCATED AT EVERY NTERUEDIATE AND OUIER XD HINGE LOCATONS.
16 BolpLES W ME REAURRNENTS OF IBC/RC 2016,
ABLE DRUM SHAFT TORSION SPRING COUNTERBALANCE
3 v
ACER STEEL HAYNG A MINWUM 25 GA S
JOINT SEAL /' POLYANDE THICKNESS G =40 WITH PRIME COAT WITH A HORIZONTAL TRACK - ”7% 5"
MUN YIELD STRENGTH OF 30 KS 1821,
/POLYURETHAN[ FOAM MINIAUM | T0P FIXTURE —— 14175
4 . THERMAL BREAK FUG AhlE ——— =
BACKER STEEL HAVING MNMUM 29 GA N — &
900 ' THCANESS 6 40 WTH PRME COAT SUR AR R - [ 15" WA 0.
18,004.03 FLAG GLE)/ ] (TOP ONLY)
= N
{ ) 1/4 - 16" LAR END HINGE —]
L1313 MINIMUM ) /%AngRA@K/QOLﬁgﬁ ) : W I;
Ty — i '/]4/4 Skl 3 STRUT 1 PER TOP OF EA SECIOL | — = = =
i T8 G STUIEREND NOTCHED DOUBLE END CAP H —] % ‘
£ T TYP, N PR FOR GLAZED SECTIONS ONLY— | A 1 [l
| , =0 ; ’
e pa— s Yao A 16 TRACK OPTOAAL LA E .
24,004.03 AL '}"PAM“ N PER HINGE PANEL = . —
PRODUCT REVISE "c"”_’==_._._.j_._.—=—;h‘=v; ﬁ o
i SECTO e a:lf(;:l:g‘l:’% with the Florida 3" % 1B GA STRUT ] i) |1
HALE 24 NOA-No. 23-1120.26 SOE Lock—"T1 ] = N
Expiration Date: 08/04/2027 ROWLER—_| ] ——— N -'—'_,_:_T iy
By: mt/w;é VERTICAL TRACK St -
Miamj-Dade Product Cohtrol = [ [ = E; b
PRODUCT APPROVED BOTIM FXTLRE N =] !
as complx with the Florida
Building Il | 5
NOA-No.  22-0315.01 [? 3" STRUT BOTTOl SECTION e )
Approval Date 08/04/2022 LB
= " t &40
= 7] T
) ; ;!i,a—ﬂ_ﬂ_i'c_rrmnf/e) Toduct Control 97 1A DOOR WDTH AND 240" MAX DOCR HEIGHT WAL anaie
’/"'fg 8’6}"“‘;‘ L\?f“\\ S O e 77 et o, IEWSULLE, TEVS
RATIN D N ROl Qﬁe% ] P eRuEAD b,
S g ;EA%(ACK 15 A '@‘6 R W im T — ;PTION .
AT Ee x_[:/a" TRACK ~ 15 Gh AL Dl ARE I X =300 MATERIAL = LI DELS 598675575 15 5
i gt%n%uﬁ QIAN, PEUTE 20 (ASTRAGAL) INCHES ANGULAR = £.5° +46/-52 PSF, DADE COUNTY, '9'2" MAX
5 e e 200 S0 60 S OVERHEAD DOGR CORP 00 NOT SCHLE HOLES: ok - T
FL PE 87291 T PE 130813 SHED: 4 AL 4 A At QE%%%}\LWO SRS e @zsf Ko i%‘ééﬁi 10y . Sgi‘m " o
e— N : LEWISV]LLE TEXAS 75067 ST JIEET APPLCABLE pALEI -
AR o ST e A B 9-7100 FAPROCESS NEPECTON STANDARDS i UATABASE: SCALE 1:12 [ VoM = EA [ SHEET 1 0F 4
¥ ‘ T T F T X r i

NG FLELOHD-{FORM REV A)



+

E

INTO ?/N 2

ELEV

EXTERIOR
FRAME

I/B WASHER, MAY. OF

2.75" EDCE DISTANCE

3/8" % 3" LAG SCREW, wm ]c
JIN. 2-3/4" EDGE DIalANCE

i

2)(6#35? %E

il

['AST] NI;:

MIN. EMB

HOOD MOUNTED 70 ¢ 3 SOUTHERN PINE SUBSTRATE

N
1-5/8" LAG SCREW
X q J SF# .9

R

===
L

GN ON SH
HOLE LOCATIONS
16 GA JAMB
BRACKET
MOUNTING TO WOOD
JAWB_DETAIL
INTERIOR FRAME
<t SHEETMETAL (
SCREW
W
POLYCARBONATE
YANDOW DETAIL
SECHON F=f
SCALEY - 4

31641

1/4 20X
et SL o
1/4=20 HEX NUT

EDGE DISTANCE
13 GA CONT.
WAL ANGLE
TRACK CLIP
9/16"

/

MOUNTING 10 STEEL
OB DETAL
o — TP arhon S5

=L — 1y

(% B-\ 7

DETAL H
SCALET : &

et

JUNFENG QIAN, PE

2500 S. STATE HWY 121, SUTE 200
LEWSMLLE, TEXAS
FL P 87201 TX PL 130813

i %“c'?%ﬁ%‘ it

PRODUCT APPROVED

as complzin with the Florida

Building Code
NOA-No. 22-0315.01

Approval Date 08/04/2022
By &/’7

Miami-Dade Product Control

PRODUCT REVISED
As complying with the Florida

Building Code
NOA-No. 23-1120.26

Expiration Date: %5810412027
By:
Miamj-pPade ProductCTontrol

g
PTIONAL: WALL ANGLE MAY BE
AT]ACHED 10 SUPPORTING SYEEL

DRILLING SC% N WlTH I OD W SH[R

vl o it Gl

LOCMPONS

‘.ﬂ 0S

13 GA ROLLER SUDC ATTACH[D

7 0P FIXTU
B%L% ANDNU
2 2 AND 1/4 - 20X 916" TR

BOLT
(DSNHJ HD%SHD‘ NUY IHROJGH

%P F\)%%RE ET REINFORCING

?EIN Cf’N ?U? SiOT

DM SIMPSON TITEN HD

%0 N, 150 ?’SI D/U

FILLED CMU, MIN. 4" EDGE DISTANCE—t

W

3
<

1-1/8" 0D, WASHER —
#OOD MOUNTED TO GROUT FILLED MASONRY
BLOCK DETATL

—=7—4" EDGE DISTANCE

4" EDGE DISTANCE

2 ANCHOR GRTIONS;

ANCHOR

1" 0. WASHER 7

g F.}z gS DIA SIHPSON TITEN HD
TASTENER, 2-3/4 NIN, EM&ED INTO' MIN.

A,
£

//.

/

f T %
2% 643 5P (6=0.55) OR BETTER

T8 0D WASHER

WOOD MOUNTED. TO ZDLOD [
CONCRETE DETAL

3" EDGE DISTANCE

/3/@ D\A :II.%P‘!UN“WEN HD FASTEMER, MAX, OF f
u()NCR[fE MMl 3" EDGE DISTANCE

7 ‘{ 8%00 PSE\ "CONC ETL, MIN. 4" EDGE
; / 3/8" DA HILTI KWK BOLT 3, s
777 Sl ntick 15 2l eveeo,
T il Bt Bt .

C '&_SEE DOOR ELEVATION ON
SHEET 7 FOR HOLE LOCATIONS)

MOUNTING i()LGROUI F!‘;\I_[D' MASONRY
BLOCK DETALL

SECTON E-L
SCAET: 4

7

LP%‘ i
2) OF WHICH ARE IN-BOARD

2" ROLLER WTH 7/16" DIA. 1144 WL CR

3" STEEL ROLLER
NUT NOT REQUIRED ON G/187 DIA.

3 GA M. WIDC BODY END HINGES FOR 2" TRACK,
1 GA END HINGES ARE REQUIRED FOR 3" TRACK

HilHiE Yk

I 9/16", OIA. PUSH

14 GA (NTERMEDIATE HINGE
4 1/4 0K /8
=Y SELF DRILLING CRMPTITE SCREWS

ATTACHED WITH (

1" 0.0. WASHER

MOUNTING_TO 2000‘ PSt
CONCRETE DETAIL

& ~—JEATHERSEAL

rEBE=DISTANCE

EMBED INTO MM, 2000 PSI

3 MOYOF PIOS e
I n

fin {aanwwsm G th/

3 o

7 3/3 i HLUI KWK BOLT 3, EXPANSIN

i, 2-1/2" . EED, . 4 G

#(SEE DOOR ELEVATION O
SHEET 1 FOR HOLL LOCATIONS)

_~13 GA BOTTOM FIXTURE
ATTACHED TO SECTION WITH

DIA STE%S 0P AND

b
3.).3/8" DIA. POKER LOK/BOLT, EXPAN!
B%&T}{)R 1= 5}) 8" MIN. EMBED, MIN. 4" B

DP)LLI%G C%IM‘IIPE Eﬁ\éwy i la-

FEATURES & MUST MEET APPLICABLE

'IDB\

jU CALF DATABASE:

et DETAL X (ASTRAGAL)
SCALE 1 ;4
DATLIGHT
IMPACT FRAME SIZE OPENING (DL0) SCREW QTY
107 /8 SELE = >
SRR At 18.2 X 15.3 15 X1 10
N TION A TWEEN 7 7

Hﬂcﬁt EATEH AN, e SEDNEE 146 % 16.9 4L BT 19

40 % 12.8 358 X 8.6 14

42 X 16.8 37.8 X 1275 14

41.2 X 7.1 37 % 3 12

DETAL L A4 % B 4013 % A125 16

SCALE 1 4
TNLESS OTHERWSE SPECEIED AFPRCVALS TETE [ Genmine. T Orginal
TS i WISVILLE, TEXAS
T NTERBRET DU & TOLS LRSI R e I,E N2 Gy LT
@—H\ PER ASME Y14.5M W=t PPROVED = ESCRIPTION
ALL DIMS ARE IV XU = 010 NATERIAL - WHDLOAD MODELS 5/45(57[5/7553/51 {ﬁ?
[ e a s i INCHES ANGULAR = 5 +46/-52 PSF, DADE COUNTY, 92" TAX
JHERIEAD DO CORE DO NOT SCALT HOLES: St < | e —— —
" =+ Rl = 1) k
DI, CIRCLED WTH SrB0L - € ) ‘ }
St i (4251 @:00 £008/- 003 i ¢
s, 61 MR Tt AR oo 6/-003 D 0- 411850

IN-PROCESS INSPECTION STANDARDS.

SCALE 1,12 [ o = EA [SHEET 2 0F 4
{ |

6 T 200410~ (0 FEV-A)

H

]



3

NOTES: (UNLESS OTHERWSE SPECIFIFD)

PRODUCT ATPROVED.
1.0NE 4” STRUT PER SECTION, AND ONE 3" STRUTPER BOTTOM SECTION, ATTACHED as complying with the Florida ?
WTH 1/4-14X7/8" SELF DRILLING CRIMPTITE ‘SCREWS. :;'x’_""'g dode 22.0315.01 18 ?tﬁg‘jﬁfgﬁﬂ”ﬁ s
Approval Date 08/04/2022 LOCATED AS SHOWN :
d RACK 13 CA M TRACK By = (11) SECTION DOORS WTH F’
) &,R'fm“h,%ﬂé 130 N - e Mismi-Dade ProductControl— (1) 3/ 16 04 80 K3l U- BARS
: i f coniibous 7 | 9]]] Ak COMMUOS TRAK LOCKTED 45 SHOW
“Z W R S i1 eA M TRACK / | WAL ANGLE I WAL ANGLE 5 I
WTH 1/4°-20 NUT A "EULR%% | i L A1 GA M TRACK 164 W (10) SECTION DQORS WK = 3
g SCHEDULE W b B I CUP SEC SCHEDULE { T (15) 3" 18 64 B0 KSI U~ BARS 7
b TV o T R - IR b
Ll | it I
D“ L8 H S0 @I e J | e M Al TraCK (8) SECTION DOORS HITH E = 2
Sl gl FRUEAR R Ll 1/4-20 HEX NUT Ll WP STTI®) WK U230 W1 (14) 3 18 G4 80 K U= BARS
s LOCATED K5, SHOW
TYPICAL TRACK AND JAME TPICAL TRACK CUP TYPICAL TRACK CLIP TYPICAL TRACK CLIP = L B, P b
T TASTENERS DETAL * RIVETING DETAL " BOLING DETALL “WLLDING DUTAL () SECTION DOCRS WTH ok
TP TIONAL WALL ARCLE TRACK (12) 3' 18 GA B0 K31 U~ BARS
DETAIL U LOCATED AS SHOWN L L i b
SCALE 1 4 PRODUCT REVISED E 3 " L
As complying with the Florida (7) SECTION DOORS WITH = r B
i Building Code (1) 3" 18 GA 80 KSi U- BARS [T
5 2 NOA-No._ 23-1120.26 LOCATED AS SHOWN
3 E Expiration Date: 08/04/2027 = fo 3 L b
ok - . (6) SECTION DOORS WTH [ b o - = -
' (3) 3" 18 GA 80 K51 U- BARS ,
Miamj-Pade Product Control LOCATED AS SHOWN L L L L L L
- B ) B
(5) SECTION DOORS WITH = E F S 2 - a2
(8) 2" 18 CA 80 kS U- BARS
LOCATED A SHOWH
% v ) ” = P B B P B £ B
DOOR HEIGHT 000R HEGHT LY (4) SECTION DOORS WTH -
(5) 3" 18 Gh 80 KSI U~ BARS
LOCATED AS SHOWN 1 Lk N i L L
Ean S OE OF OE O OEOE 3 3
STANDARD LFT LOW HEADRODM
*TRACK DUTAL TRACK TETAL g § Hw ATTA H[ WTH &)E\ﬁ-mﬂ i
17 BRLONG CRPTE SeREWS 21 : i | : | I X b
ACHH CATION AN ETWEEN o . < = = =
AR OGRS o ) B a u b =
g, SHRUT
TRACK DETAL 1 SCALEL; 4 [ = L L L L L L L
bl = B 3 3 3 5 3 3 B B
7 STRUT ATIACHED WIK,(2) 1/ 1457 /8
S B SRR 4 F F F F 3 F F r
NI 1 AGE LOCATON 41D rmmw | |
\“‘;e—\ENG i, E M WSO R B 3 3 L b ,
........... £
S\\_}}_.C\cENss-.__ ”‘,, L I :
= ..- "k ( ;}1} L £ L lb-
;—'1\'- No,BZIL 1 T <
= J Clin 2 DETAL © SR LOCATONS
:’—‘0- 3 {’/V‘Fﬁ ..;‘E‘E:: SCALE 1+ 4 SCALE 120
—,J.po'._ TATE O!- @3
2, I3 Ol
i ‘2‘”.9 ROR. e‘xc:“\\ ONLESS CTRERWEL SPECRED TERROVILS DATE | o Gomine oo,
o SionA- & W : ; o g TERPRET DS & TOLS TOLERANCES: DRATY LA 107877 S LEWSHILLE, TBAS
fninnnny s iy ITEEREL RS . TS A ey CHECRED [, KDRNISH 10/78/01
DOOR. HEIGHT DOOR HEIGHT = : - W= 1.0 ZPPROVED - " PESCRRTION
ALL DINS ARE N O = 400 VATERIAL = WENDLOAD MODELS 5745,/5785/1565 ’25 :
JUNEENG: G, PE INCHES ANGOLAR = + 5 +46/-52 PSF, DADE COUNTY, 52" MAY. WD
2601 5. STATE WY 12, SUTE 200 —— by N SR s
i B BT RO % e 0t = oo/ 003 [P = TN 0
fLPEROA1 T4 P 13083 — i =S it BRI DIfe, CROLED Wi SYUEQ, - G | 02578500 = £.008/- 003 D ’ 0-4113%0 ’
FROFESSIONA Eci R'S SEAL PPOW ONLY FOR IRACRUETAL TRACK DETAL LE'FF\SV[I.LFSTEXE‘S 75067 FEATURES & MUST MEET APPLICABLE G>M@5Q9gj o o C
VERFICATION OF WDLOAD CONSTRUCTION DETALS, 469-340-7100 IN-PROCESS INSPECTION STANDARDS. PERET s ) SCALE 112 [ oM = EA. [ SHEET 3 0F ¢

35 F200400- [FORU REV 5)

B ¥

[ 7 3



8

NOTES: (UNLESS OTHERYISE SPECIFIED)
1. FOR DIMENSIONS AND NOTE REFERENCES, REFER 10 INDIMDUAL DRAWINGS:
U - LENCTH = DOOR WOTH ~1
| —r27507— - =l [— 3,003
NEE l R247 —LT50 5.498 ,ﬂ, i 2156
3875 L ——— ;
0
ol ot S iee - = o ﬁ
‘ 2500 03¢ K
T0P FIKTURE ASSY. FIATURE L (74

BASE, ]TOP

ROLLER CARRIER
“ORG

5 CiRUT DF’EN WL UBAH
80 KSi ST

TP FISTURE DETARS STRUT DETALS
SECURED WITH (4) SELF DRILUNG SCREWS 1/4-20 X 5/8"
2 30 1435
‘] =y ———r2.34 THROW '
| 3
4 000 1.380 ¢ 7380 4,1185
[ﬁ [ 15 pop 1000 % 150" THiCK—
wll _ 50 :
0 : 750 0 R SIDE LOCK. ASSY "
BOTTOM FIXTURE, BE-12 14 G& 13 GA
BOTIOW FIXTURE DETALS HNGE DETANS LOCK DETALS.
:
X913 .
o
1730 L
PRODUCT REVISED ;.17 i >0 - —— 4437 R38R T
As complying with the Florida | ! 1l * s 18,077
Building Code | 120 R 1w | 1811 RE 1.840 - o
Wy, NOA-No. 23-1120.26 _i ? = R
\\3 fE.N-G..QMX,", Expiration Date=£8lo4/2027 '450__[._ 460 I—STSO =2
O el T . L fU=
: SRR O _ ?!:_, tﬂ JAMR BRACKTT = :
&4 k= Miamj-Pade Product Cohtrol v s e
Sk Ho 7291 0 R ROLLER ASSY 7" WL 1144 (STEEL ROLLER) ROLLER ASSY. 2' WL 1144 (NYLON ROLLER) Ok h L
TR G s = | = T
= K W= — 4 20—
= fges — s
. — 0% o A T PRODUCT APPROVED BOLLER STEM ASSY DETALS BRACKLT DLTALS T =
’p,:p ! aTE oF é"\‘: E’-‘.’:‘,’-'“:"'qg" o a amda s
205 FLomieh RO oA RIS OTRERWISE SPECTED ATROVATS AT o G Th gt
SSIONAL B NOANo.___22-0315.01 o vt o e U e I L0077 gy (EWSILE, TELAS
AN Approval Date_08/04/2022 PER ASHE V14.9H X 2hh LI rsapm
-~ ] % 3 P — =
NG OH P By = HL I XK = 3000 WATERIAL = VANIDL OAD. MODELS 5745 5765/7565,/515 /525, |
7501 \UTE HWY 1 SUTE 200 Miami-Dade Product Control TR ORP " NO‘] Sr;\l" HELESAN GULAR 250 146,/~52 PSF, DADE COUNW 42" MAX WIDTH
LEWS IE xS DVERHE R € £ LB . _ -
FLFE 8732“1 TX PL 130813 2501 5 STATE HWY il c‘pc £ WM <0251 = £ 004/-003  |FINISH = SIZE|DWG ND. REY
uwwsvw[mwﬁ% it A DN, M B0, o o B e - ey~ D D-411840 3
PROFESSIONAL ENCINEER'S SEAL PROVDE i FEATURES ¢ MUST MEET APPLICABLE -
RCAT oErww L0 CONSTRLCH T A2 458-543-7100 N-PROCESS INSPECTION STANDARDS. CFDWVWRNEU 81 ST DATABASE SCALE 112 | UM = |SHEET 4 OF 4

NG ¥ 20041D-(F0RY REV A)

3 iy +



	ADPDF3E.tmp
	11805 SW 26 Street, Room 208




